TrRi29E2 1 BIRHE

. INE
s | 2K 7 A
f5) T —TH 810 1,685 838 847
J5) T —TH 526 1,227 602 625
J5) T =TH 716 1,580 819 761
%k /N % % 2,052 4,492 2,259 2,233
aPm —TH 1,185 2,452 1,196 1,256
F=aalii| —TH 1,112 2,163 1,060 1,103
AEm ZTH 1,285 2,588 1,277 1,311
F=aalii| Lt E| 828 1,959 972 987
%k /pNE % %k 4,410 9,162 4,505 4,657
Feyars —TH 917 1,901 899 1,002
Feyars —TH 713 1,367 665 702
Feyars =TH 1,620 2,932 1,385 1,547
Feyars T A 1,067 1,792 890 902
%k /NE % %k 4,317 7,992 3,839 4,153
HEF)I] —TH 954 1,934 964 970
HEF)1] —TH 686 1,650 825 825
BB =TH 1,107 2,470 1,210 1,260
HEF)1] T HE 895 1,927 966 961
%k /hE %k %k 3,642 7,981 3,965 4,016
[EEsIl —TH 875 1,853 909 944
[EEsIl ~TH 730 1,641 760 881
PEE I =TH 368 844 390 454
PEER)I| T HE 1,350 2,869 1,450 1,419
ks  /NEF % %k 3,323 7,207 3,509 3,698
* k 2EAE * % 40,807 80,814 39,296 41,518

. INE
T | Ak 7 I
FORAHT  —TH 2,822 5,934 2,760 3,174
FIRARRT  —TH 729 1,538 752 786
FIRARRT  =TH 1,136 2,535 1,235 1,300
FOIRAHT YT H 2,121 3,713 1,607 2,106
%k PE Ok ok 6,808 13,720 6,354 7,366
HFm R —TH 1,091 1,958 960 998
WD IR —TH 934 1,930 970 960
WD IR =TH 1,405 2,772 1,353 1,419
HFn R I HE 647 1,425 696 729
HHFNIR T H 1,786 3,610 1,809 1,801
* %k pE k% 5,863 11,695 5,788 5,907
[ERSIEN —TH 790 1,214 596 618
[ERSIEN —TH 504 1,001 454 547
* %k /B ok ok 1,294 2,215 1,050 1,165
JEFIR —TH 724 1,173 563 610
JLFNIR —TH 751 1,513 750 763
JLFNIR =TH 531 844 442 402
* %k  /pE k% 2,006 3,530 1,755 1,775
FOFNIR —TH 1,820 2,844 1,299 1,545
FOFNIR —TH 711 1,208 591 617
FOFNIR =TH 921 1,689 802 887
FOFnIR T HE 376 579 292 287
%k pE k% 3,828 6,320 2,984 3,336
Ll —TH 569 1,112 570 542
Ll ~TH 690 1,448 728 720
Ll =TH 1,389 2,692 1,358 1,334
Ll T H 616 1,248 632 616
%k pE k% 3,264 6,500 3,288 3,212




